. WORKIT OUT

Solve each of the four worksheets, then
transfer the answers to the four disks.

. DISK JOCKEY

Using the clues on the base sheet, stack
the landmark disks from oldest (on the
bottom) to newest (on the top).

. OURBASE IS UNDER A TACK!

Insert the thumbtack through the center
of each disk, through the center of the
base sheet, and finally, into the
cardboard square (to avoid marring

the table and any stray fingers).

. GET YOUR BEARINGS

Using the clues on the base sheet,
orient each disk to its correct heading
to reveal the solution to the puzzle.
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The Pier's heading is
10x the Hollywood

Sutter's Mill made
50)) 09\, ° history 61 years before the
Sign's heading. 006l 08l OOL\' Santa Monica Pier opened.
o
The two-digit year of Disneyland's grand

The heading for the Pieris 90° counter-
opening is one half of its heading.

clockwise from the Hollywood Sign, and
50° counter-clockwise from Sutter's Mill.

The Hollywood Sign was erected 75 years
after the start of the Sutter's Mill Gold

The Santa Monica Pier opened on
Rush, but is not the most recent landmark.

09/09/1909, 46 years before the newest
of the landmarks opened to the public.



PIER PRESSURE

Letter by letter, find each of the 12 words, then write them in the pilings
below the pier. When you have completed the puzzle, copy the answers

1) Party line?

A BEYONCE KNOWLES has it; JENNIFER LOPEZ never did.

B ROGERS had it; ASTAIRE didn't.
C MADONNA has it; MCHAMMER doesn't.
D GERDT had it; NUREYEV didn't.
£ MURRAY had it; MILLER didn't.

2) Top of the head
A CHARLES had it; ALFRED didn't.
B RAMSES had it; TUTANKHAMEN didn't.
(C CLEOPATRA had it; CAESAR didn't.
D WILLIAM had it; ISABEL didn't.
E NAPOLEON had it; LEOPOLD didn't.

3) Universal display?
A THE MATRIX had it; INCEPTION didn't.
B Itrepeatsin GROUNDHOG DAY.
( ltrisesin EVIL DEAD, but notin ARMY OF DARKNESS.
D CASINO features it, CASABLANCA does not.
E Itappearsin DIE HARD, but not LIAR LIAR.

4) Derby prize
A PRADA shows it off.
B GUCCl flaunts it.
C ARMANI wouldn't be seen in public without it.
D VERSACE would wear it, VERA WANG wouldn't.
£ CHRISTIAN DIOR doesn't have one.

to the SANTA MONICA PIER puzzle disk.

5 6 7 8

5) Track transaction
A PAI GOW uses it, STUD POKER doesn't.
B It's found in CRAPS, but never ROULETTE.

C In GREYHOUND RACING, it starts strong but finishes last.

D It's used in KENO, but not in BINGO.
£ BACCARAT has it, BLACKJACK doesn't.

6) Youthful sidekick
A It'sin the belly of a SPARROW.
B A CASSOWARY has it; an EMU does not.
C An ALBATROSS has one, but not a STORK.
D An OSTRICH has it, but not a ROOSTER.
£ AHERON has one, but not an OSPREY.

7) Chew-toy covering
A DALMATIANS have it, but not ALSATIANS.
B ASHAR PEI has it, but not a SPANIEL.
C ABULLDOG has it, but not a BEAGLE.
D ABOXER has it, but not a ST. BERNARD.
£ COLLIES have it, but not CORGIS.

8) Athenian's end?
A It's at the ORIGIN, but not the FINISH.
B It's at the COMMENCEMENT, but not the CLOSE.
(C It's at the ONSET, but not the STOP.
D It's at the BEGINNING, but not the END.
E It'sinthe ALPHABET...

9 10 11 12

9) Frisco fumbler?
A It's part of ONE, but not TWO.
B It's part of FIVE, but not SEVEN.
( It's part of SEVEN, but not FIVE.
D It's a fraction of THREE, but not THIRTY.
E It's part of THIRTY, but not EIGHTY.

10) Politician's concern
A BASQUIAT had it, SEURAT didn't.
B MANET had it, CEZANNE did not.
C KAHLO had it, ROTHKO didn't.
D MAGRITTE had it, MATISSE did not.
£ DEGAS had it, DALI didn't.

11) Tracker's trail
A It'sin JASMINE, but not JUNIPER.
B It's in CLOVES, but not LAVENDER.
( It'sin PEACH, but not PATCHOULI.
D It'sin ORANGES, but not SAGE.
£ It'sin COCONUT, but not CINNAMON.

12) Do-gooder
A THOMAS has it, but not MATTHEW.
B JOAN has it, but not JOHN.
( GABRIEL has it, but not GEORGE.
D MONICA has it, but not MICHAEL.
£ VALENTINE has it, but not VERONICA.
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From each puzzle below, subtract a three-letter word
from Clue A’s solution to create a solution for Clue B.

Example:

Clue A: Traffic signal

Clue B: Negligible

STOPLIGHT - TOP = SLIGHT

When you have found the answers, transfer the subtracted words to the Disneyland puzzle disk.

Bending in the breeze

Green melon

Rancid

Horticultural science

Like some chicken

Tiny critter

Send a taxi

Deficit

Panhandler

Self-employed

Characterization

Business banter

Established boundaries

Poorly crafted

Thickness

[TT]
[T 1]
[TT]

[TT]
[T 1]

Croon a tune

[T 1]

Mead need

Sanctify

Nursery rhyme wife chasers

[TTT]

Cut class

Driftwood depository

Slot symbol

[L1]

Neighbor of Spain

Opening

Celery stem

Homeowner’s document

[T 1]

Bashful

(I T]

Refuse to accept

[TTT]
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Sign of the Times

For each visual rebus below, find the solution. Then, write it into the Hollywood
Sign puzzle disk, using the arrows to determine the direction for the next letter.

ANIMATIO

CRIME;

Example #1:

SUSPENDED ANIMATION

IrIoco-H

LAMOTHERW

Example #2:
CRIME WAVE
2
S
—

Example #3:
TOUCHDOWN

7N

TRI \DE
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Name the images below and enter them into the
Rings and Spokes of the SUTTER'’S MILL puzzle disk.

NO RUNNING
IN THE POOL AREA |

1
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